5\'«"5 |

—

Tanu«ar_v} 20049

@ 5&\ Fom Calewl efer ©

SLxy = 217 | 9 Ake XY 2 LMY
/\’\"—df(y\ 2 S L4 | = 26-§}"\ velue = 5
2
Myodt = L\, an. O [
b\ Meode, o> more Huan | velee
@ N Fam lawaher: S5 = Ibl4.3g s 0.022 8557, .
1y Ui*\'u..\l) no Iingar t¢ormelcbiea betucen lens/h
and  Diamtter— of (w2l

L\,\ G’(..f'; ) ll'kc.‘j kv be wiFong,

W wenld  erpect &  pod Thove o ovezlwa
Pogr!—-wc a5%0 ¢l bt T

ay Haot S 4
hedueen (engin and

ue (TH .
& X ~ n(S.ox, o0 0s?) .
&Y ) P x ¢s)
AN
< pil2 45’-5‘,0%’\ b
S
O.0S .
E i
=f(2 < -1.6)
B -1.b O 1.L j
=| _[BL2Z =i 6N
=1 = P(2 < 1.b)
=1 - 06.4,520 * 0.65L¥
i) Pl ISl x legan)

= P(s-5.068 ¢ 2 ¢ 5-\-(5.03)

6.05 0.0% //

l‘ﬂf 5  S0¢ 5.
= Pl-1b ¢ 2 < 5.0

|z o il
2 Plzsoaly = | plz| 2 4 L)

2 0.bSSLY) 3 0.65, 8 S O. 60062



oY i) X ~ wn(5.0%, Q05|
Pl X > 5.65)

P(2 > 5.05-45.08 )

i

)

o
= P2 > -12) |
> p(2 <1.2) ] 2

i {2 &)

.2

. O B384 8%
i) Plx=5Y = @
AN P(x=>s5): 09qq
2 velue fgor 0.44> 2,3 203

b\‘ﬁv\,d ad 1-3;"\:) .

S s M = - 2F72L3
0.05
5 ~p 2 —2.DUB = 0.6F
o B @A iRy = S.1) b3S
@ &\ Be 'i\ P(no tarY = 0.y
Bis
Y Plsot o) = 038
) PUby) = 065
b\s\ (A ] P(GAL)Y: .35 x o©.4 - 635
@ Pl el = G2 e a7 P 0.y
Bus Blide n LY = | 80 le! 5% - 0.2
O .b)
i) Plao La.rng\ s Y\~ o660 = 0.349
5 duws S| 0345 p.069



@ *_ A A/()JJ 8> )

n 30O 2oy s 1bRD $ g

) Mzten = 12O 2230 = SL miaS

LY | OCl= S5 S g n o 30
Gg7 wvaluw fer 2 (2 baides) = 2 RS
A&76 ¢X gar o = DT Ot 2 . 5

v N

il

51,

f+

23213 =« _&HB
J30

=gy 2 2 34186

= (So.b0, s7.40)
A 0 =) — ) = By 3 2.3%6> . L
NEP

She & 1% blok ..

= (3534, 1q.60)
2\ N A

needed  w> dutm grm  Aerme] D3 Toutrza

@ g S5¢e Meaevrh Schewe

by  Frm calealeler £ 5¢° =

= Lo 3y
o T

.3 LGoy (-37-&ﬂ"l‘acl’\ Ciﬂ*(rr_;ptvl

.‘.} = O, £ 5018 . (9(1.,,)(‘,_,&\

iy Yy = . 3L F
e\ 2T

AN Mewd verttel O3t ence,
034 Se

4 velues - prc.dnl-n)g (e

Ecfne biTn
w

O. bq oC

sy

B 1 - (03uy + 0bs5 (59)): 2. asi

@ Lb - (030 4 ob8Y (b)) s 3, &b
G st

/"\EM <

- (034 5 0.b%S (6)) = 2.6 &

2.d481 +3.10%b ¥ 2.16B = 2.4 57166,
>




Wy o« 69
New) gredided +  residuel
Predeted & W = 0.3, + 0.685 (65) = L. 89
residual grzm i)+ 2 GsN

. best estimete 2 LL.Ebg 4 L.asTT = L1 819

@ aX ' 3N K e &Cm’o.u‘s\

P(x = 3\ = "’C3 < O0.LS X 6.5 = s 021F
nY e ~ 25, o0.4s)
P(X 210}y = P(X £a): o.2424 (g~ [2bls)
iy < ~ & (uo, o uv)
PCis & 3 ¢ 20\
lun we: 1S ,1016... 20
Meed P(X €20) - Plx €1y
z 0.8 - C.ABWL & 0.5 L4

vy n = 50 | p=oO.LS

ZMEAA/? ﬁp = So » O0-LS - i I~
Ll;AﬂiAuL€7 Ap(|..p\ & €D w0LS eSS |2 2:31S

b\ i\ e ECrawe) (é AeNntur Ci Fi2ens Muj net be
independ At as H"—bj Mey et A g @uwg )

I‘“\ P‘:‘Sﬁm i Mure ll.ht‘j o b werhsr Cr C«h;le/xﬂ’
S50 velue 3] P by P'-Llj |12) be a9 BB‘{JT-J-‘



